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QUESTION 1

Click the Exhibit tab. 

Which two actions would you perform to address the system alternate-control-path (ACP) connectivity issue shown in
the exhibit? (Choose two.) 

A. Reseat the ACP cable. 

B. Reseat the shelf modules. 
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C. Turn optionsacp.enableoff and then on. 

D. Perform a takeover and giveback. 

Correct Answer: CD 

 

QUESTION 2

Click the Exhibit tab. 

Your customer\\'s MetroCluster controllers have generated AutoSupport notifications with a "DISK REDUNDANCY
FAILED" message. Referring to the exhibit, which component is causing the problem? 

A. the SAN switch site3_3 

B. the SAN switch site1_2 

C. the ATTO bridges on site3 

D. the inter-switch link (ISL) between site1 and site3 

Correct Answer: D 

 

QUESTION 3

Your customer using clustered Data ONTAP 8.1.2 recently had a disk drive fail. They already swapped out the failed
disk for a replacement disk. They call you the next day explaining that the disk is not showing up in the spare disk pool.
In this scenario, what are two reasons for this problem? (Choose two.) 

A. The replacement disk drive needs to be manually un-failed before the disk will show up as a spare. 
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B. Autoassignis turned off, leaving the disk unassigned; the customer needs to take ownership of the replaced disk
before it will show up as a spare disk. 

C. The disk ID needs to be removed from the failed disk registry before the disk will be seen as a spare. 

D. Autoassign is set to on, but the disk shelves in the loop are shared between a high- availability (HA) pair, causing the
disk to show up as unassigned. 

Correct Answer: BC 

 

QUESTION 4

Click the Exhibit tab. 

A customer is attempting to protect the source volume listed in the exhibit. They try to initialize a DP mirror relationship
to the destination volume but it will not initialize as expected. Which two settings on the destination volume are causing
this problem? (Choose two.) 

A. language 

B. type 

C. volume size 

D. max-autosize 

Correct Answer: BD 

 

QUESTION 5

A new storage efficiency job is executed on a volume hosting only a thick-provisioned LUN. Although 45% of the space
was saved, no extra space was seen by the client. 

In this scenario, which statement is correct? 

A. The client sees only the logical space for the LUN. 

B. Thereare volume Snapshot copies that were taken before the efficiency job. 
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C. The client needs to re-scan the volume to detect the changes. 

D. The volume is thin provisioned. 

Correct Answer: C 
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